CHMI51 Quiz#4a 25Pts Spring 2006 Name: 4<C)*J.-
Molar Masses: Na 22.99, K 39.10, S 32.07, O 16.00, Cl35.45, H 1,008
1. (4 Pts) How many grams of Na,SO, are needed to prepare 350.0 mL of 0.10 M solution?
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2. (4 Pts) Complete and balance the following reactions:

1HPO, + 3BaOHn > G H,0 + Bog @O )

b. RHCI+ AIOH; > J3IH, 0 + M,C/Q3

3. (4 Pts) How many mL of 0.50 M HCl solution are needed to prepare 400 mL of 0.15 M HCI solution?
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4. (7 Pts) It took 36.25 mL of 0.2308 M NaOH solution to neutralize 25.00 mL of sulfuric acid solution.
Determine the Molarity of the sulfuric acid solution.
2NaOH(aq) + H,SO4(aq) = 2H,0(1) + Na;SO4(aq)
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5. (6 Pts) How many grams of NaOH are needed to neutralize 200 mL:of 2.00 M H,SOj4 solution?

2ANaOHE) + .50, Bg) =2 2 00) » My S6q (4

2 Q09 it
l? - ﬁ‘*‘j
o - OOL=

.00 MW' va#ﬂ’/;fm%}j/o,()ozﬁqé/{ _
o L 4 A
7 Vimabders [ty

3 2,9 J Ne bt

<
S SR



CHM15! Quiz#4b 25Pts Spring 2006 Name: “K‘c)/jz),,

Molar Masses: Na 22.99, K 39.10, S 32.07, O 16.00, Cl35.45, H 1.008
1. (4 Pts) Complete and balance the following reactions:

a.  CaOH)y + JHNO;> L H,O + CG,(NO3>9\

b. DHPO, + 3Ba©OH, > { H, 0 + 8‘3 @ODL

2. (4 Pts) How many grams of K,SO; are needed to prepare 350.0 mL of 0.10 M solution?
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3. (7 Pts) Ittook 36.25 mL of 0.2308 M NaOH solution to neutralize 45.00 mL of sulfuric acid solution.
Determine the molarity of the sulfuric acid solution.
2NaOH(aq) + H;SO4(aq) > 2H,0() + Na,S04(aq)
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4. (4 Pts) How many mL of 0.60 M HCl solution are needed to prepare 400 mL of 0.15 M HCI solution?
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5. (6 Pts) How many grams of NaOH are needed to neutralize 200 mL:of 2.00 M H,SO solution?
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